
TW 350
Housing



TW 350
Housing

Pos. Description Reference

01 Polyester case complete 035.030

02 Finishing profile P...055A

03 screw DIN 7971  4.8x19 P...483 O

04 Tightness cord dm 5mm P...051

05 Catch for cable complete, including:
Items 6-11 P...087

06 Catch for cable P...087A

07 Distance piece 6x8 mm P...087B

08 Washer dm 6/16x1 mm
 P...497M

09 O-ring 8.73x1.78 mm P...088

10 Washer M6 P...496K

11 Hexagon socket screw M 6x30 mm P...488S

12 Hose clamp 20-32mm P...554B

13 Discharge hose complete 035.108

14 Closure ball P...108C

15 Hose support complete, including:
Items 16-19 P...109

16 Serrated lock washer M5 P...498D

17 Hose support P...109A

18 Washer M5 P...496H

19 Hexagon socket screw M 5x16 mm P...488G

20 Waste water tank cover (BROWN) P...080

21 Air filter P...071

22 Float complete P...074

22a Cover of the float P...076D

23 Floating ring P...074A

24 Cover complete (GREEN) P...083

24 Cover complete (BROWN) P...082

25 Ball handle P...082B

26 Fresh water filter P...106

27 Reducer 1/4««-3/8«« P...535A

28 Gasket 30/17x2 mm P...097

29 Hexagon screw 3/8«« P...535B

30 Angled hose nipple 8-1/4«« P...541H




